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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

Question Nos. 10 - 12 and 22 - 24 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A

1. HhNIHS (3TMeTieh) AN 1 Teh ITEWT ST | 1

State one example of positive economics.

2. for (fFfvea) amma 6 gfitam €S | 1

Define fixed cost.

3. 9 3f9d 39E (AP) 3ifehad Bl &, a9 Hwid 3 (MP) : (T8 foeheu
gfu) 1

(%) oTHHd 3c91E & THH Bl @
(@) oft|d 3cu1e & %1 Bl 8

(1) ITtEd 3IcUTE © 3ferek gl @

(")  STIE | § Ig oft g1 Fehal B

When the Average Product (AP) is maximum, the Marginal Product

(MP) is : (Choose the correct alternative)
(a) Equal to AP

(b)  Less than AP

(¢)  More than AP

(d)  Can be any one of the above
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& 100 ST ICUTET i 1 Pl R AN T 30 &1 3R fi&a uiEd anrd
T 38, A FA A entl : (W famew i)

(%) T3
(@) T30
(M T 270
(7)< 330

When the total fixed cost of producing 100 units is ¥ 30 and the average
variable cost T 3, total cost is : (Choose the correct alternative)

(a T3
() T30
(0 %270
(d) T 330

“ferger foTu Icared foman S <At e THEIT THETST |
AT

“qeRrIeh oh =T hI kol T THATSY |

Explain the central problem of “for whom to produce”.

OR

Explain the central problem of “choice of technique”.

SArE [ H R AT 7 ? AT JArd HiT | Eeh! T hit |

What is meant by inelastic demand ? Compare it with perfectly inelastic
demand.
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7. U 9% sl U 9dT B W Th UMK I8 hd qF HUT b 98 39 I%q H
ferat 7T @li] ? TuEmsy | 4

ST
ST sk T & ? IHRMAN dshi <hl i foRivamd srqmsy | 4

Given the price of a good, how will a consumer decide as to how much
quantity to buy of that good ? Explain.
OR

What is Indifference Curve ? State three properties of indifference
curves.

8. 6 Uk g%q sl HhiAd T 4 Ufd $H1E & ekt T 5 Ufd IHTS it @, dl Sh!
ISR qfd 100 31E & SigeRt 120 SH1E B8 | qfd Al shiHa @
giehe ShifTe | &7 gfd e & 2 SR ST | 4

When the price of a commodity changes from ¥ 4 per unit to ¥ 5 per

unit, its market supply rises from 100 units to 120 units. Calculate the
price elasticity of supply. Is supply elastic ? Give reason.

9. 3=qH <hid "\ Ui 9 = ST B 2 39 IiumH HHEsy | 4

What is meant by price ceiling ? Explain its implications.

10.  3MEM 5 fITeNUl gRT IUHRRT o T <l Id AHSST | 6

Explain the conditions of consumer’s equilibrium using Indifference
Curve Analysis.

11. W@ AW (FFTied) 3R €T ANTd i T8l § 3cq1geh o agad i I1d
HHSATRT | 6

Explain the conditions of producer’s equilibrium in terms of marginal
revenue and marginal cost.
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TR Sfaifiar ht @ forivand sase | 3@ & SH-E fomivar 9 qol
gfernfirar 9 fie ot 8 R == 2

AT
Ffafad % i Jwemsy
(%) Ui ST | BHT o T i TR JAN BigA hi T
(@) fcuTiesR ¥ R-hma i

State three characteristics of monopolistic competition. Which of the

characteristics separates it from perfect competition and why ?
OR

Explain the implications of the following :

(a)  Freedom of entry and exit of firms under perfect competition

(b)  Non-price competition under oligopoly

Qus d
SECTION B

frefofiga 3 & a1 U 3™ =1 wifad st 8 2 (8 fawed i)

() o T HaT R
(@) T+

() i TErEan
(%) ST | & i T

Which of the following affects national income ? (Choose the correct
alternative)

(a) Goods and Services tax
(b)  Corporation tax
(¢) Subsidies

(d) None of the above
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HET SAYMd <hl qRATST ST |

Define money supply.

e e U ek S | I R g1 FH B ¢ (5 s gf)
(%) FFElE (W ©) TRt

(@) i geidie et (e W ) seret

() T i @

(F) T gfayfet s=et

The central bank can increase availability of credit by : (Choose the

correct alternative)

(a)  Raising repo rate

(b)  Raising reverse repo rate

(c) Buying government securities

(d)  Selling government securities

SYUNT oI5k I d FAT TET Y& AT 8 2

Why does consumption curve not start from the origin ?
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frafafea & & eF-E sifiy aeqd § M SH-H gead 2 wRo G |
(%) =M WA R gy i Elig

(@) TR g a9 i wlig

() TR Hda @ et g 5@ i wlie

HAAAT

T 3T AG B4 W W ITEfaeh 3T H AT H Hehd @ 2 THST |
Which among the following are final goods and which are intermediate
goods ? Give reasons.

(a)  Milk purchased by a tea stall

(b)  Bus purchased by a school

(c) Juice purchased by a student from the school canteen

OR

Given nominal income, how can we find real income ? Explain.

TOTeh S IRATST T | EATT 39U TR 3R U % S 1 "9 7 ? Al
UTh ST W 4 7, df Hiwia 39 Sgfa w1 ke Hife |

Define multiplier. What is the relation between marginal propensity to
consume and multiplier ? Calculate the marginal propensity to consume

if the value of multiplier is 4.

IR fed s it “sifam worgrar” = €9 Yfiesr a0z |
Explain the role of the Reserve Bank of India as the “lender of last

resort”.
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oehifehil ST & 1 YU B ? 36 3IqUA hl A i o o U
TS | 4
CCH]

oy ($) T F FA1 AU 7 ? 389 T<h sy | 4
What is meant by inflationary gap ? State three measures to reduce this
gap.

OR
What is meant by aggregate demand ? State its components.

HHTd U9 Ygi 1 Hod 0-6 7 IR Fdeawe i TRER 3™ T 100 FUS
3 | 3, YA 3R F=d fG@Td gY Uk dTfetepl daR WY | Af¢ & e
T 80 HUS B, I 3 i TgeH &) off fa@msu | 4

The value of marginal propensity to consume is 0-6 and initial income in
the economy is ¥ 100 crores. Prepare a schedule showing Income,
Consumption and Saving. Also show the equilibrium level of income by
assuming autonomous investment of ¥ 80 crores.

Frafafaa o 31ef TmEs - 6
(%) TS 91
(@) TSR =T
(M) rfies wrer
JAerE
TR 9l o HHfRad 39 IHesT 6

(%) FETEAT I ATEA
(@) T EUHATE S HEAT
Explain the meaning of the following :
(a)  Revenue deficit
(b)  Fiscal deficit
(c) Primary deficit

OR
Explain the following objectives of government budget :
(a)  Allocation of resources
(b)  Reducing income inequalities
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(%) oI @ g & THF I | IwE q93msT |
(@) YTaH aded B 91’ i TR FuEmsy |

(a)  Explain the impact of rise in exchange rate on national income.

(b)  Explain the concept of ‘deficit’ in balance of payments.

gfteher HIfST (%) SR S | faa Tsda Icure, qen (@) d1eH (IUTeH)

ANTA TR Fehel T 3G

G) T R =
(i)  ASIQU AT A
(iii)  3ferafd &y

(iv) Taa e

(v) i Fgrrar

(vi) T e

(vii) Toeem =1 fraet #r o
(viii) AT

(ix) oT9d Yoil 1 ITHAT

(x) TSRl grT TR FRaTT STRIEH

(xi) Tofa s
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6,000
1,800

400
100
20
120
70
80
50
200

1,000

4+2=6



Calculate (a) Net National Product at market price, and (b) Gross

Domestic Product at factor cost :

(T in crores)

(1) Rent and interest 6,000
(ii)) Wages and salaries 1,800
(iii)  Undistributed profit 400
(iv)  Net indirect taxes 100
(v)  Subsidies 20
(vi)  Corporation tax 120
(vii) Net factor income to abroad 70
(viii) Dividends 80
(ix) Consumption of fixed capital 50
(x)  Social security contribution by-employers 200
(xi) Mixed income 1,000
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